Tekla Structures

Axes 11, 12, 13

1:100
15 547 247 10
(523 10 15| 15os
I 1 I
1174 AD-tr255
! 1500 |AD-tr7140] !
A\
g10
N e—— QY 4
| L2 N [N\ 3| s =R 1
| 0 e |2 = h [P\ \
! 1500 I__ = I
| o o 15 e — so |
X
11776 2 o s Ad-tr04101 0 |
Ad-tr04101 0 AD-tr7150 0| [AD-tr4201
AD-tr1901 DETAIL A ‘ ‘
Ad-tr04101 ln L]
L | | Ad-tr04101
I I
\ \ AD-tr7130 \u |
— I I §
= Ad-tr04101 = EERR
'ﬁ Ad-tr04101 }n L ;
|| [AD-tr1401 | | AD-tr1401] ||
.51 = bt .ok
| | | i
I I I I
\ \ \ \
I I I I
| p p |
] 1 ! ]
M | | {0
I I I I
| | | |
I I I I
|fA Y " of
\ \ \ \
I I I I F
N 0
! } ! [AD-tr0101] ‘P
[AD-tr0101]
! AD-tr0101 ln L AD-tr0101 ‘
0
0—-——— | ey o\ oy N o e oy Y }&, ,,,,,,,
y S S —— e S
| | | |
B 20340 B 9000 B 20340 B
I i i g
| | | |
A B C D
Montage frame axes 14 - 29
1:100
AD-ss1419
B, C
B,C B, C |
; 2x bolt M16x40 bolt M16x180 \ !
| ‘ \ 4x bolt M16x150
‘ bolt M16x40 \ | —
\ 2x bolt M16x30 ‘ \
w 4x bolt M16x150 | w
4x bolt M16x150 \ 2x bolt M16x180 ) ! !
| | — O |
I P« = | E—
| — O I T I
1 o) Al IB Bl IC | I Cl D N D P
= oo | oo o o o
o O o O o o 0 —
o) O O —
= —T
O O conical bolt M16 x 40 . conical bolt M16 x 40
i — i ‘ conical bolt M16 x40 i conical bolt M16 x 40
i conical bolt M16 x 40 i
conical bolt M16 x40 ‘ i 2x bolt M16x150 ! ‘
| I | ‘
. . etail D, 1:15
| | Detail B, 1:15 B\C Detail C , 1:15 B, C —
I
Detail A, 1:15 |
B,C
B,C
( o C Fms23828 B, C
‘ ! 1 Fms23827
B"C \ Fms19859 \ Fms19859 \
I I
‘ | Y FmMe18352 | 2xFms18352 2xFms18352 ‘ 2xFms18352
| Fms16572 i / | ‘
Fms23828 | ¥ )
‘ Fms07242 | | % o o o 1 o o? o |
| 1M12—-— e - S= - — - — - — - e 11,12 11,12— - — - —{ - — e — - S L — - - —11,12
Fms19859 ‘ Fms25307 | Fms25308 e o e en e PP 1L mom oo om
AR S Y 5 w : 1 o 0 0O o 0O 0 0 o
s e e o s ‘ O
] Fms19859 |
13-29—-—-—~- T # T T 13-29 13-29— - — - — - — Sl — —13-29 ms Fms19859
= Fms23831
| o o [ o o _ B HIES ° Fms23830
| e ‘
| Fms25307 w ) \}
Fms23827 N @]
| Fms19859 Fms16572 \ Fms07242 Q ° % & S X
| o~ x
H - | x o
section A-A | | 'Fms25308 3 5
1:15 | | 5 o
\ | , X &
B,C \ section B -B | |
‘ 1:15 ! _ ‘ _
B\C \ section C-C \ section D - D
X B, C 1:15 B, C 1:15

truss

8x E1 C160X1.7 L= 3875.5
4x E2 C160X3.0 = 7191.0
4x E3 C160X2.5 L= 7748.0
4x E4 C160X2.5 L= 7748.0
8x E5 C160X1.7 = 8990.0
8x E6 C160X2.0 L = 8990.0
4x E9 C160X1.7 = 4517.0
4x E10 C160X1.7 = 4517.0
4x E11 C160X3.0 L= 7191.0
8 x E45 C160X2.0 = 3878.0
4 x E53 C160X2.5 = 8273.0
4 x F25 C130X2.5 L= 1791.0
4x F26 C130X1.5 = 1358.0
8x F27 C130X2.0 = 1786.0
40 x F28 C130X1.2 L= 1358.0
8x F29 C130X1.7 = 1786.0
20x F30 C130X1.2 = 1786.0
4x F31 C130X1.5 L= 1786.0
4x F32 C130X2.5 = 1786.0
8x F33 C130X1.2 = 1494.0
4 x F35 C130X2.5 = 1358.0
8x F36 C130X1.5 = 1506.5
4 x F38 C130X2.0 = 1865.0
4 x F39 C130X1.5 L = 1454.0
4 x F40 C130X1.2 = 2154.0
4x F41 C130X1.2 = 1757.0
4 x F42 C130X1.2 L= 2070.0
2x F47 C130X2.0 = 2055.5
4x F103 C130X1.2 L= 1166.0
frame
4x Q4 SA320X3.0 L= 7986.5
4x Q21 SA320X4.5 L= 7986.5
4x Q22 SA320X4.0(S***L. =11573.0
4x Q38 SA320X5.0(S***. =11573.0

FRISO/VAT.

Innovators in steel buildings

Frisomat Nord

17, Rue Paul Langevin
F-93270 SEVRAN

tel: +33 148 67 53 53

fax: +33 1 48 65 24 48
e-mail: infoparis@frisomat.fr

client:
Champagne Bernard Bijotat
<address of site>

scale: 1:15, 1:100| date:

FRISOHALL FC_TR_10°

width: 50.00 m

height: 7.80 m

length: 156.00 m

type: 500/78

project: ax2200913
NVA & PPE | order: FR1 056-22
20.12.2022| Foregr Teore




